KR4 | AZRNAKR | )14 =3 A A B X ] X [AINO A SR T 5. Ok L& BT 7 e B A AR R X FRA-3

i
18 | [Fe=30, ae=39

Y
o HW.L-11.36 2 é FFo=22, Go=55 s
: 1< | Fe=51, Go=10 i T
k=6.7 e ||
= d| | paL| fre=ro. cen2 st 1 | Fo=25, Ge=59 As
o e 4] By Fc=23, Ge=46 i j_;/l :
R O B | Fo=24, Ge=38 35 /
1 > {_ 1)) b
SRAI Fc=16, Ge=50 ey L
£ L T )]4 5 - Fe=17, Ge=2
= L33 AR | | | etz oo0 As | |Yt=1.90 ¥ sat=2.01 $=34.4 C=0.10 |
s k=8.156-02 Ml | 4 Fo=23, Go=4 s2 . Fo=14, Go=42 =
k=8.76E-0211v o I —
[~
6,502 0 —e 02,8% '
X STy Fe=17, Ge=13 2o Fe=12, Ge=49
1 |'Fe=21, Ge=13 Foses td oLl LL
O = Fe=16, Ge=29 Q%5
Fo=15, Ge=48 [ bf-g; N
08 % vevss [—f Fe=24, Ge=4 (502 Fe=11, Ge=62
eaas ¢ TF
22a L] AP bret1, Ge=a1 3 / it o
:v ': 3 +Fc=13, Ge=29 *Fc=14, Ge=47
| ||
ayied th |Fe=17, Ge=10
BERER-E
EPYRR A
LRMETR | bR T C (44 ) SOURAHS) | R RN A
KN/m? tf/m? deg . f/m? KN/m* 1f/m* KN/m?
R5k0-1 S1 1.50m ~ 2.50m 9.2(5.3) 0.9(0.5) 23.9(39.9) cu 2.000 19.608 2.686 0.527
R5k0-1 S2 2.90m ~ 3.80m 319 3.3 6.6 uu 2.070 20.294 2.080 20.390
R5k0-2 N 2.20m ~ 3.00m 25.1(3.2) 2.6(0.3) 30.6(38.1) cu 2.055 20.147 2.121 20.795
R5k0-2 S2 6.00m ~ 6.80m 74.8(5.3) 7.6(0.5) 34.8(41.1) cu 1.958 19.196 2.035 19.947
R5k0-3 Sl 1.00m ~ 1.60m 48.0(3.0) 4.900.3) 37.6(41.4) cu 2.091 20.500 2.194 21.512
R5k0-3 S2 3.00m ~ 3.80m 5.4(3.6) 0.6(0.4) 34.1(35.5) cu 1.839 18.029 1.992 19.530
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